1. Question: "IBHE ©¥F 3%@6'%’1?4’@?

A) CTTTSeT R (BT
B) 3RIPAW SR =R

C) At

D) AT RIER

Answer: A) CTITSe TFWTH (1A

Explanation: T: 333W ﬂgl'ﬁgﬁli\ 3fb® AT 8 TIReS ﬂ*‘ﬂ%ﬁﬁ%: - BT 8 WIfRET (v2eY) - IBIE
FAFIT (5D Y) - TRAT TRETT FAT (R AT HDQO, $DYQ) - TRAT NRGTT G2 (5>@9) - IBTAT
SIF 2930 (b») as IRTABISAT

2. Question: 'TeIF6! FEF FTF ToT?

A) (TEEAN STF
B) $TTRA IEBINETT

Answer: A) (WRGA STH

Explanation: 558574 fImINSE S bro WEH b (TCHTF AFeNIrE (MrF (el Az S
AL FEF AT Sbdd T 3D FTR FAFTOI AT T+

3. Question: ‘BT HIOTFA! FIF T6aAT?

A) (267 FETRT

B) Ftb4 (5T

C) T T

D) FRE@ A7 wg

Answer: A) (R4 IERTTERT

Explanation: 5w it (Sonnet) 2 9F AR FIo] ITF TAF T%J 2T T Fo(I(0 |

4. Question: (FAG FIEI FGFT 3NN Tofo T3?

A) T IRAT
B) I41F I



C) STRICE
D) fa@= It

Answer: A) FT IRAT

Explanation: FT8 & 3N FIRTSE- - AT-J, - SPT, - Hoam, - NFersd, - TITE], -
-, - 5 AT, - FHATAL, - TG, - T 511, - &F 237, - [BfeF, - {7 1, - wEawi, -
seafa=y, - frg T enfa

5. Question: '$33" H6F F1F Ioa1?

A) TRITER FETE

B) &f2g IR
C) St (e

D) FAt7 At
Answer: A) “l?r'fﬂ'i EARBIE]

Explanation: - YA (GYS a7 A6F (AFTF) FIF| - FEMT TNSE@T TEE (ST NFTFTAT THNF
fofer aft Lo T T FEF 972 ©YAR THINITF FIFT (V6 AfSate @ =TI

6. Question: "SI 25" - S 52 TR STATIH SIS STATSTH IS SATSH STHAA@ A Show
T G P (WO (TS SATSTH

Answer: C) f&3&a S5 (Beloved one's gathering)
Explanation: « §3%-%T% (I8 IREAT FFA (I I3 (R05> FFF) IAE - 'BIF 26 97 o -

A ARH |« IRAT AFTS FHS AFGSTH ANSHTT WA - B 26 (FROT) - Froma 31 waies
AFa SN |

7. Question: (FF IAHG BH?

A) sifefsrer
B) sifefirer
C) ifrer
D) sftf¥rer

Answer: B) Sftfe]
Explanation: 3% I 3 Bfefrer aft Faws 1= - 3R @ F9t7 oY *fFarsw) - a7



TFIACS T4 N S| 18, Tse 7 s m M| T2 IRAT AFSH ATSH

8. Question: ‘I IR FIT TR* 93 IFREF Wy T F7?

A) ;e
B) IIFS

C) =
D) IFE AT

Answer: A) FIR2T

Explanation: 30 FfE (@2 I - IFE FANT | TFRIA - FATIG/FC F1E 77 A7 | FIBR TSI 5T 7 -
TFE | AR | F ST AT - FHE | (AT SO T 97T - SAFHAT| TS - AT 507 F1 F&
A3, FHE| TN TRAT AFNGA YA F IRAT ASHTA

9. Question: -3 Y TG @1 = TFTOH?

A) =T
B) fawst
C) ©&q
D) @35

Answer: C) ©&q

Explanation: S35 31 RF© @ I - 97 Hf0F IIRNE fAFo02 o-7 5| - IR (@), 8%d
8 AP T@a I -7 e (@21 - THTIT T AN -7 T T@ST 97| 5az IR O
FFFA, FIN-T (FAF @6 I3 |

10. Question: &3 -

A) ST S AHE

B) SIS A0 (V@ Afod

C) BY ASIeFTT (FA® NS IS
D) FAE] FAE] IF OF VH© NI

Answer: C) BY Fo[oF[T (IO I [0 F
Explanation: (I g T1ET (19 F1X T FIT (@A BT (331w 67| fm3rm 135 S5@d

SRR o | (w5 (I NETS1RR ST ST S I 71| BF ST FAE I (FH70em
T N I ATH© M| S35 IRAT S IR, FIA-T7 (31T |




11. Question: (FA6 JJR?

A) ofel forfeeE
B) @i I
C) of¥r iferet
D) wf¥ T13

Answer: C) 9f¥ F1fexeeT

Explanation: SIafSa1RT6F J135: (I IS G, D@1, S, JTAT 2@710 JAHTI (13 IIFNE Ao
6 JTHY IET| (TN - QN J13, ST 5oy FN T Joy1f| Az NI HFae (A6 32

12. Question: '8 I X T BB IG FIT' - A '3[ Fe(© I (FR=?

A) ST
B) smifer
C) Zewi
D) *If&

Answer: A) 3Tqof®
Explanation: I35 [ T1ET <& (F FINE TA® | S35z ©FT 8 T - T2 IR IR

13. Question: @ IHHDL BFH?

A) 7%
B) 3
C) 1y
D) 37X

Answer: B) 333

Explanation: 37 (fROT3er): 31 - SIFeM1sTe; NACETIY; T AT a%a | - 3P (FReT5) [ora 2wy,
NFETSRT; ST FPAT| {(©35T JT 5Fw) V3] + 5 () + T}

14. Question: 'FFA =7 I F?
A) ReEeTE 8

B) afeg
C) FsI3a



D) Surite
Answer: C) F5121a

Explanation: f3aT5 (fR0r3e) - Sviiley; SIsfe8le; fae=pz1 S35z IRaAT AFTSH ISy |

15. Question: "FEF[ TI© FT (FTRTI?

A) FHHTE Ffe BT

B) Wif¥fer e a6 ST
C) qreT 8 2 (Frsret

D) A% Fax IS

Answer: B) BIf¥fel &1 930 TSR]

Explanation: S5 ¥8MT IRaAT fRTH fF6H FTISHT A1 ST - FSJ[ FeT© 9F Y@
Ffax PrIemET| - WRfT 8 IR e F51 26T g9+ oA - SR 37 fAmefs a7 SeEs| 835
I ST 8 WReS - T (Afera Cr3F

16. Question: 'TIF TIE AT 7o), BRI TAEF TR - (F JE@RA?

A) REFE~
B) flawrsife
C) I TINRA

D) 53w
Answer: C) 9133 TN

Explanation: 55107 fRaTTe Ofs- - Y (F 437 237, SR I47 AFITOT I1F ST SNfE
o’ (fas smm)

17. Question: (FFf6 FITAT To?
A) 5Tt

B) 5Q@If

C) sguit

D) @R

Answer: A) 5Tt
Explanation: F4ATE STAT: FIGAN STFA S35 SHATH F6e1 FE@A | ST FFI6 20 -



- (ST (S 50) SHATHID FINUATRE (T8 3 fTgNiReTa Aares ST e | 4 ST 3353
TEFNHF At TP Te |

18. Question: (FH6 FIFFIF?

A) FfFer

B) 115 A

C) AeNF F1F

D) @6 Fio]

Answer: C) IRF F1%
Explanation: S5F (: O1F FIFAESET I\ - - FEP6 FIFOT (5909), - T2 (5980), - AT FAT

(528R), - (AT B9 (5980) 932 - o TFT (5988)| - T FIASIRIR ' (NI F(TOT S8 FIT
TFIe 2| - fofd 'FFer Fasg oM @ ST IRTAT ©FT 8 HRey - T (NG Cag

19. Question: (FHAG AGF?

A) FEF 3T FH
B) ST feraT
C) =@ TNS
D) STz

Answer: B) ST a1

Explanation: fa&wed @ STt A6 TSR] - G Y6 NSRIET ST AT 60|
ARTTI3 OIF SN AT - 'TOTARY, - "JSHT, - ‘(AT Toe, - e fFoF, - JFenerr Fonv o
TRAT ST 3 N2y AR, T. (ifsia Crag |

20. Question: "AEFET-OFE" F1F ((TN?

A) STTFEFCTE JF (GIFT
B) wispen=aa fa sepmE
C) Jorfée ¥

D) R AR
Answer: A) STTG{FCTR 17 (GIEAT

Explanation: SJ$NTR AT T3 {% SEAEIST TReTH 2T - - M-SR, - IR, - 1R AR
oo | AR ©IEF ©iF [F27Te FfIerF 77| @z IR ST 8 ifRe; &




21. Question: Each question below consists of a related pair of words. Select the pair
that best expresses a relationship similar to that expressed in the original pair. (21-24)
Eager - Indifferent

A) Concerned - Careful

B) Anxious - Nervous

C) Devoted - Dedicated

D) Enthusiastic - Halfhearted

Answer: D) Enthusiastic - Halfhearted

Explanation: Eager-als13l, Indifferent-Swisia | 93T = 96 78T o1 57T @ | S1RET 3Y )
3% F1FS Enthusiastic -S3131, Halfhearted - @71 %1 9ft f3s7dte o1 5% @1 Concerned -
Ofad, Careful - Ig319 Anxious - &g, Nervous - fI5fie Devoted - f[9@We, Dedicated - fa@™me

22. Question: Lengthen - Prolong

A) Reach out - Cut short
B) Distance - Reduce
C) Draw out - Shorten
D) Stretch - Extend

Answer: D) Stretch - Extend

Explanation: Lengthen -5, Prolong - AIE1® | 93m@ = 96 432 91X 537 FE | ORE BY F
Nf8F F1F9 Stretch-aWfHS, Extend-TNfEe 7% 9ft 952 o1 T3 FEF|

23. Question: Delay - Retard

A) Postpone - Promote
B) Adjourn - Start

C) Defer - Accelerate
D) Slow down - Hold up

Answer: D) Slow down - Hold up

Explanation: Delay -fRe% 41, Retard-f3er 347, afoze FATI 93T 7% 46 STNF oY T FEF |
TR BY o) 3% FIIT Slow down -3 AT, Hold up- forGe FaT, 8@ 101 %7 1f6 ST o7 53T
FE|



24. Question: Submissive - Disobedient.

A) Comply - Conform
B) Heed - Acquiesce
C) Obey - Hearken to
D) Observe - Defy

Answer: D) Observe - Defy

Explanation: Submissive -SIi&813%, Disobedient-S1315| 23T =1 9ft fI7die o1 577 @1 932
FIIE 5T) N3 | F1F Observe -Ney F1, Defy-=1 FA71 = 7f6 [T7e o 957 FF |

25. Question: Question 25 - 30 are incomplete sentences. Choose the word or phrase
that best completes the sentence. He fantasized winning the lottery.

A) with
B) from
C) after
D) about

Answer: D) about

Explanation: fantasized about - FI€T F4T ((FIE] Toa1 T T IS Selo) N0 Sod - H)
about

26. Question: The Parthenon is said erected in the Age of Pericles.

A) to have become

B) to have begun

C) to have had begun

D) to have been

Answer: A) to have become

Explanation: infinitive J& I1#(@ passive FA® 2 infinite use 2J| T34 - to be/to have been +
vpp

27. Question: He divided the money the two children.

A) among
B) over



C) in between
D) between

Answer: D) between

Explanation: 735« 95 M@ ©15T 471 JIe Between 432 RIF IS I AT M ©I5T FE (87T
J3M® among JIIRTF 2|

28. Question: As they waited Rahim argued against war -

A) while his brother discusses the effects of pollution.

B) while his brother discussed the effects of pollution.

C) while had brother discussed the effects of pollution.

D) while his brother was discussing the effects of pollution.

Answer: D) while his brother was discussing the effects of pollution.

Explanation: Main clause, past tense a9 *(T subordinate Clause 3 past tense 45 T | ‘ijﬁ clause
while TT&T I 2, (T clause 5d BF0® while A& (16 continuous tense Td|

29. Question: If we want concrete proof, we are looking for -

A) something to cover a path

B) building material

C) a cement mixer

D) clear evidence

Answer: D) clear evidence

Explanation: Concrete proof- farger Sae/aIs5y Fa1ef, ©IR(T 931 clear evidence-™8 S Y
T |

30. Question: The Olympic games were watched by billions people all over the
world.

A) exactly
B) usually
C) truly

D) literally

Answer: D) literally



Explanation: exactly- ﬁl‘@@@’ AffFeIR, usually -STEAT6F, truly- INIYSTE, literally - SHAF
I (MBA THF | AN (F) I (57) (F I O3 I FEAT I (S FAHAF T FAR ©F e
22T f¥efT S8 | usually SIS present tense 4 TFIXF 27 93 o (¥) I | TRE (NG ST
fafermey fafermey (M (ma

31. Question: (J 30T EF© 92 AIBF AT (WH 2| O, AT 0 3 0 T FCIFT QT (R8T
R@® 1) The author thinks that true learning will lead to -

A) personal understanding of the ideas of writers
B) discovery of unknown world

C) revelation of the mysteries of the world

D) better expressive powers A6 IifeT FAT 2T@®

Answer: B) discovery of unknown world

Explanation: G Iifed 41 2@®

32. Question: Which of the following best describes the author's attitude towards
learning?

A) learning is not a matter of reading extensively

B) learning is not something to be demonstrated in examinations
C) learning is a matter of promoting creativity in students

D) learning is matter of menorization =G FNfee FAT TEA®

Answer: C) learning is a matter of promoting creativity in students

Explanation: =6 1o F471 2@®

33. Question: The gypsies are a tribe of strange people. They do not have any fixed
home, but wander about from place to place and live in tents. They were originally
natives of India. But as they reached England from Egypt, the English took them for
Egyptians. This is why they came to be called gypsies. They were believed to possess
strange powers. They could tell your fortune by reading the palm of your hand. It was
thought they stole little children to train them in their way of life. Whenever a child got
lost, it was thought that it had been carried away by gypsies. So they were arrested and
sent for trial. But this attitude towards the gypsies has gradually changed. The gypsies
are people who ---

A) have a settled way of life



B) came originally from Egypt to England
C) steal children to train them in the way of life
D) are always on the move

Answer: D) are always on the move

Explanation: SIf§& Tag 31 (5T) | F1R passage a7 3T T3 I7 4] AT They don’t have any
fixed home but wonder about from place to place wander about from place to place. a3} 4 19
(F) TOF 97 F194 ( (IR fixed home @R)| () WOF T FFF by N F47 A= They were
originally natives of India’ () 3% 9% F1E passage 9T CTF T WX it was thought that it had
been carried away by gypsies. So they were arrested and sent for trial

34. Question: The gypsies like to live in tents because -
A) it is easy to hide stolen children in a tent

B) it is easy to read one's palm inside a tend

C) it is easy to bring them from Egypt

D) it is easy to pitch them

Answer: D) it is easy to pitch them

Explanation: ©TMg ©1J(® I FH FIIA

35. Question: The English took them for Egyptian’'s means -

A) The English took them to the Egyptians

B) The English brought them as far as Egypt

C) The English were taken in by the Egyptians
D) The English considered them to be Egyptians

Answer: D) The English considered them to be Egyptians

Explanation: The English took them for Egyptian's- 3% 33@Sa] SIWa@ 8T I 7|

36. Question: Attitude towards the gypsies -

A) are still the same as before

B) have not much changed over the years

C) can change one they stop stealing children
D) have shown signs of change



Answer: D) have shown signs of change

Explanation: (5) (@ I 0%, AIS@S 32570 29 FA| IT passsage AT CTF TRE J] A% -this
attitude towards the gypsies has gradually changed

37. Question: Question 37 - 40 are incomplete sentences. Choose the word or phrase
that best completes the sentence. The tree has been blown by the strong wind.

A) out
B) up
C) off
D) away

Answer: D) away

Explanation: - Blow away - ﬂZﬁWCWWW@@@ 9@ 83T (F1e1) | - blow off - T3
ST (JTST) | - blow out - IBF (HATEAT| - blow up - [ACHEF TR FE /N F47|

38. Question: No one can that he is clever.

A) defy

B) admire
C) denounce
D) deny

Answer: D) deny

Explanation: 93T& IIFHF I (FS 2 AFFH FA© M a1 (T (T 5971 92 I deny NG
appropriate. - defy - (=7 IR F41, - admire - TR FK7, - deny - FAFTF F47, - denounce -
NATCETTEAT T

39. Question: A reward has been announced for the employees who hard.

A) have had worked

B) has worked

C) will be work

D) have worked

Answer: D) have worked

Explanation: 331 principle clause, present perfect tense I subordinate claue 6 (T (&1



tense a9 (@ 7MH| who JFT employees (F represent $I® T plural | ©RET TqTet verb 3 plural
3(d, so have INE| B2 $od (F) 2G|

40. Question: To the arrival of spring, Bangladesh Television a special
function.

A) commemorate : launched
B) announce : telecast

C) welcome : sanctioned

D) celebrate : organized

Answer: A) commemorate : launched

Explanation: 33T, INE@F A ‘SHITH FAT T [F& F50 1 50 T4 F7 I A7 953 93
S[PT SIS F1 T

41. Question: 936 STFER B1FT A6 RAE Ho IF | 97 (TFCS HIFIT Fo S5 E?

A) Spo°

B) x90°

C) wyo°

D) ¢80°

Answer: C) wbo° (360 degrees)

Explanation: S I & I1T wbo° Do, , , , = (9Yox50)° M. = Yo (T, Yo (T BIFIM (HAMEF (W Yox5)°
S,y h s = [(0Yoxd)/bo]° = ¢80°

42. Question: IFfC FICT wo TN 2T IMR O HET b T FHIT (AT T2 8 T {HFH (AT 93 ¢
& 352 (AT 1| F© o SOIHR (AE?

A) v

B) ¢

C)»

D)q

Answer: C) »

Explanation: F53 3 @6 (AT = wo - ¢ = 3¢ 59 SOIM6 (A = [(bb + $8) - :¢] = 9T



43. Question: 9T CTRTF STRAT 3T S S| T (AT 8 ©IAF I © : 5| are F sHfaner
CIET GPTIEET 8 & S *(F?

A) b ST
B) b I
C) v aiy
D) 8 s

Answer: B) b &7

Explanation: (ST&T : 1T = @ : S SeTe I (FT5%eT=0 + = 88 fB3rTe 9 (AT AfHATer= [v b x
(9/8)] = SXETT, , , ,, , =[SO x (8 x 8)] = 8 ST SSIHE CTAT BPG TE = b - 5% = 8 T

44. Question: 5,000 BIFIF 3 A S 1 8 FAN© OIS FE (AT | A 97 T (7 32 ©FF I 3 (NI JE R
1Y 1S IS 1T FE | (T F© BIFT AMI?

A) Soo BIFT
B) 8oo BIFT
C) voo Gl
D) 200 BIFT

Answer: B) 8oo G197

Explanation: ¥ : ¥ = : 8 IO (ATTHT = 5 + 8 = ¢ ¥ AT = [50004F (8/¢)] = oo BIFT A : AT:
(@ =315 1S IAATST (@HT = (R + 5 +5) = 8 (AT M = ool (5/8) = 0051H]

45. Question: >3- O (T FaN ST (TIST FIET (ABIHA 3, 9, 8, ¢ 92 b TN A0
feTey 2E?

A)

B) @

C) o

D) 35

Answer: B) v»

Explanation: 3, 9, 8, ¢, VAT TA.51.8 = Yo VIR, (PDDIDD + Yo) = BIFTHT HYYLLYL AR BT 9D

TOTAR, faefT Fues AT = (Yo - vp) = 33

46. Question: 336 TFF AF6 FFCIPTF HTTH T ©ICT FE | FFF (T TN 8 IF 7% (07, FFCTT
T ST ¢ I 1% (77| 58 ¥FEMT 8 % T9TH I, FF © A& GoYF IF| TFF 3 FFONCH




TSR AT 672

A) S¢S
B) 20 : 53
C) 53 : %0
D) b : 5@

Answer: C) b : R0

Explanation: AT 8 & Ao F1@ 7% = FIEF © TH AfoF B YT " AFOEMNCH ¢ T
e 99 = FPEF (0 X ¢)/8 = $¢/8 T ANOFIS YT " FFH 3 ATCENCTH SIS Seyoe = 8 :
(5@/8) = S 1 8¢

47. Question: 9F (AP SSo BIFT (F& WG fF5 STTT TG Soo BIFT (F3 TN Gl =Af37er 51
e 3@ ©T b0 BIF] (& 7IET fFF @ @G ¥,000 BIFT MO FIT| (MFAIH FOIT TP F© (Fo7
B 7 FE=T?

A) soo (33
B) Yo (&S
C) ¢o (Ff&
D) wo (&3

Answer: B) Yo (@&
Explanation: &f3, SSo 51T WIE 51 F (Ff3 = $50F BIFT "+ Soo BIF] W 5T 3F (Ff& = Soo x 3F

= 3003 BB THA(®, SR0X(F + 3F) - (V50T + 200F) = 3000 J|, VY0P - VS0P = X000 T, F =
R000/¢o = 8o SJOAR YT FFNEF b1 = %80 = vo (P 5

48. Question: 936 I (AT SF AfF© 6T (FamweT P FIT (FNF IF-5QARCE 377 AfFe 6T
(FaHd O 397

A) X
B) 8

C) v
D) s

Answer: B) 8

Explanation: xfrzrsf(mcss;aw = (FT BT AF BFI)R x AFIG© INF@T (Fa%H) = 83 %
(AfFAfSe ISMTET (FaH) = L x AHIGO I HET EFasH




49. Question: v I (TF AFf6 F1T b I FF0© *MF| T (TF FRF T F(6 TN F00
Toddl Fo fuel (M AI5TT?

A) ¢%
B) L. Y%
C) ¢o%
D) vwe.vwv%

Answer: B) b b.b9%

Explanation: X 5 (fI1F 01 18I (N6 (FT1F 2T = (b - ) = b TF| & I (7 936 F10 IE = 03
(@S, ,,, =5 %Y, ,4,,,,,,,,= (5 x B)b = S 0 & (@ 57 @ AT6T = (S - 3%) =
8l STOAR, TOFAT I @ AT = 8 x (500/53)) = ©O(3/©)% = VL. V%

50. Question: AFSH GIFHNANT (FOEF /50 IR FITG FF, S0 T AW FE T3 S/¢ T I
OTOF T 3| ©F AFF o] F© O AJIXE F37?

A) 8G(2/9)%
B) ©a(3/9)%
C) 83(59)%
D) 94 (3/9)%

Answer: B) ©4(:/9)%

Explanation: (36 T = (5/50) + (/@) + (5/€) = SD/@o TR FfF @ = b - (52/00)] = SS/wo FRT
ToFAl B AE = (55/90) X $00]% = Vb(3/9)%

51. Question: IEA@CT ST ST (BCS) FOF FIMH?

A)afo

B)xx fe

C)xnfo

D)3 fo

Answer: B) 22 f6

Explanation: IR (TG S© AGFF 205 BIAE TFIFE AT.IAF. 8. FTIF-00e-ARA/305Y

A FRACTT ST ST REANF) FCEE IRACTT ST ST (F59) FHOTERT A AF$S
FH IR | IS FICIF AT 30{B |

52. Question: FRATCTH AT (FT SAeeen I 1B F1L, P18 31 Sasiq AsIfFFma asifos



ey [0y T (of 97 FoveT H?

A) ¢
B) 83
C) 8o
D)1w

Answer: B) 8

Explanation: IR RIAHEF Bo1T SIGT Ao 'GNTF AP IR Fxel I A1 A1, P
] AT AHF@F AT &l fI0T [ (ofaad e 7|

53. Question: THFINR] HESIE IRE TS THNFTIAIFT A TFote (FH IS IFFONF FAO
MEN?

A) e frdTea SN s

B) "NAfei TSN FHRHIAF (CIETI for st
C) AEHF (SIET fele@sT

D) a1 feraafe faarst

Answer: B) "NRfF NSN RIS (GITTA foI@Tst

Explanation: SRIFTEE I8 FI@F "RERRSI SR0TH H¢ 73 SNy APiE, TN @
IBE P T T Trote TN eI @ fare smaa|

54. Question: IRATCCTT RIFUTHT TAT RETEAT ST F foeT?

A) SBT3 (AT

B) SREWE &l TN AT STTHel
C) SfErt (@b afedt

D) »© X&H J&ad fA6TE T[T

Answer: B) SfReWE Iel§ RN@F S STHel

Explanation: >3 STETH ¢ SFIR I T3 SO 28 271 aff S FEF 93F
SR Tt NEAFE §7| - 97 AT o=@ @A seafEEes e [{ye st s
55. Question: GTFT FAF SN IRATT TR THT?

A) S3¢¢ FBI™
B) v»89 fAsB1=



C) S»o¢ fBrem™
D) Suso o=

Answer: A) $3¢¢ fB1®

Explanation: Sbbo BT e A1 611 SR IREATE AT ASWE (VF GIFA FART FE
A3 SAGH TR A7 ARSI FE SR | -

56. Question: I I (TeA FeNa 3362

A) ¢ o

B) &> fo

C)sefo

D) ¢o f&

Answer: B) ¢» f&

Explanation: T3 I3[ AT (g 1 5777, IR (g IRATWCTT TAAT TH17 S A0 aFf6 T6F 3
@I (TG | - 8.%% FRENRIGIA Gl 8 vb.¢ PG 77 93 (TRfo fofafled T8 $55 v ST T4 7J|

57. Question: 3O H@W (FIFH 3 F© HH?

A) o 3
B) a¢ &
C) ¢o &
D) Yo &«

Answer: A) o0 &q

Explanation: IRT@T STo1T AW (FIFH 27 Yo I e SHEfem | - IRATT fFHNET a¢
(R)T: TR (FIHCE FN SEH AR - Yo T AUOHE F 05y 9T SHAHe 2 (FHTT %6 27 93%
T Y@ 250 ATF | - o ST F957 3T AT

58. Question: JTeIT MW B Fw IFF &NF 857 faffe?

A) @30 9FF

B) b33 9%

C) Sv¢ aFF

D) 38¢ 9FF

Answer: B) b3 499



Explanation: Y& STII $513 ST IS STSIT N5 B SEIHA FFT 2| - SIS A4 SI@
IS 2 AR I | ST AT RCMge M AMEF | - STSIF 5% I 7% &l Shof (A - aff
8¢ 9FF SfFF TR fafife |

59. Question: % ©I@F 3o (F?

A) TORTF 25
B) (ST A2
C) 9% AT ¥
D) TR 3R 19

Answer: A) TSR 3

Explanation: IRAGCTE STSIF S:5T% S 099 AAre s J2a% Azt FNEE | afed 396 amay
RS TP AEF 3 MR I | SO TS0 BT 35¢ IFF SfeF S7F AJq¥o | afoa foysf1er w16
BF 2T 5D N AT SEIEHT FAT 2T S>BR NEH 36 S| 92 SI@ FT SN0 AETH J07
SOV TET S¢ (HFIAN|

60. Question: SIAYIF TIFNET ARAL SeIT NG FE@ M FJT 2J?

A) XS TR S5
B) X} (M v

C) v affe s339
D) 39 6 S Y

Answer: C) b afffel $529

Explanation: - IRTNTCT WAty fE0TS SIRHTF TR 376 @ 8 a0 S A eEs
Wi At [AEE =8fm o179 aeneEs R S [A@RT | - S50 e KIFEET a@T
SRETHAF AT SRS TTFH T3 FEFACR T IRAT FONT AT IRT 936 SN
B T FE| - SdDY HEF RS ATb AT RO N {316 TSI 55w TIPS 27 932 3
M 2 B-0 (BTG FEMG =71 23|

61. Question: SIFEF S IRTWCTT M §fe (FNT HHe 27?

A) wif3ifers
B) (FFTeT
C) o137

D) fufer



Answer: C) G191

Explanation: 5> ST b2 f0ET ©1Fed dMiET TLEM TOH ©IF6 8 IRATECTT NS 557
TAR = T59 A §fF TSRO 271 3 {fed GAWIIT wo T2d| §fE NI IRATT 0t IS
FSCTP M NG T NFES VR ©f | (Jaz RSN

62. Question: & 8 F3[eT (FINF fifere @®?

A) ST
B) fiaTesa
C) corely
D) (ST~

Answer: D) (ST

Explanation: Fa9 f3ifere 14 : - =T8I + (AT = (TR - A + (AT = BT, - SJFN + PRI =
SIS (FTTA A1), - TATOF THA + AT = (STIISNF, - T[T + IBAT = TSI, - T + (999
= 24|

63. Question: IRACT FE@ TAN ST SE@AS BF 27?

A) S ST
B) 3593 I
C) 5»49 ST
D) 9 ST

Answer: B) 5593 NI (B)

Explanation: SO IRNCCT X (5 PGS STIT (Fa T@R| - T STHERD SNTFO TR $5¢¢
ST FETGR XAYE | - J3 S S BF 2T S99 S| T STHEa 5o I@RET 2059 SE
(ST

64. Question: 'TTT SHNTHICS (FT4F (F?

A) 3= BT
B) 3% A
C) *1a354 BB &I
D) oTaw SFAGATT

Answer: C) *Id354 BB &TT



Explanation: =IeTsTe] SHiIeTE F613e1 13w STz 43 f@ T sfRe(@aima T
STATCT A% TR ST (FFINE TGS 92 SHACTF 3 7| 77 STAGARS AT 9576
FNfaF 3 FIENG SHAT |

65. Question: IRATECT HAITS AT IS (F?
A) 7 frr

B) fogita

C) 573 SIRe

D) T TRTe ST

Answer: C) (57q% 92

Explanation: 28T TIIQAR, (53b5-5180) ARTAR AFTH NI MFEF | - S99 N fofel 737 s
FEF AR VYO NE IR @ A |

66. Question: (SSFEAIA TFAF T; AT N3F TSF (72| FOTF ©F TA® I (W) OIS
FREATGCT TGTG ST NG ST F© NF GeF?

A) 383 TEIF
B) woo T&1F
C) %> TAF
D) $8b & GATF A A1fee FAT T®

Answer: This question has been canceled.

Explanation: 736 1o $a7 2@A®

67. Question: PfeTNF 3 w1 WIF 3+ w7 F &2

A) =R TSNS

B) AT ST Aw Sfrifa Sad Sraw sy
C) = AR (Ao TGP

D) IR Fevex AFS FT

Answer: B) f3a1 Sio=at fmiia I8 Stw STae

Explanation: $>¢8 SeTH AW ST 160 JSHEoA T (N ‘97 75T 1ol e (e
FATRF| - A T%1 FIT T SRS T FES AN e[ N2 |



68. Question: FRTCTH TG (@R EERTF Ul ARF© 2T (T Ao (AE?

A) &1

B) TG 3 *MGoe 4y
C) f:f% =

D) tef (3N

Answer: B) TG 8 T6oT® 45

Explanation: (W07 &1 (FTA1 Ul STRASFTAT 7o SfF (TN | - 2059-Y030 FTRE IRATCCTH
(NG T ww.ba8 [ferga MFT TaANET AT (SfF CIPF TN (I AT =@ 29.5¢ [Ffem Teg
(N6 T AT v BT

69. Question: NFge (MCTH A FIfFex T THESF (F1 (WCT?

A) ©TF(®

B) TiReIwCT

C) T

D) STRICT

Answer: B) IIEC]

Explanation: World Population Review 2020 SIqSTE fAifSed 21&2 a1 - 52.90%, JersT -
$2.40%, BIFG- 95.20%, @M - $©.50%, IRTATTT - bS.¢0%, TFI - €.50%|

70. Question: (S3FAIT TFEfGF TY; TSN T SfOF S3F AT (2| 3T BT Selt® I
(Wye) OPEC g& (7 33f6?

A) 5¢ft

B) s5f6

C) vfe

D) x5 73fC I a1 2@®

Answer: B) s5f6

Explanation: 3 Fife a1 27@@

71. Question: INfeWH (F Iw7 Af6fde 27?

A) 5585 ST
B) v98> ST



C) S8V ST
D) 8¢ ST

Answer: A) 5385 ST (A) 1941 ST

Explanation: - 8¢ NTEE YGCT I NI JSANZH NABIBIHET TRE ¢oft (77 ST 59w TFa
FE| - ¢SOF (T ROIE (THS 992 T2EF S¢ DR INONRE How THF FE |

72. Question: ¥ AGANGF &6 ARG (NATO) FH T2 Ifefde 27?2

A) $58¢ ST
B) v»8% NI
C) S¢S ST
D) 585 ST

Answer: B) 8% NI (B)

Explanation: 7 SIGNGF F6 STsTRGH (NATO) TS A6 STHEF (@61 - 598> ST 8 AfST
SIfSS 2F| - AGT TAIT (FASIE I AIF0 | - TOAF 055 wofl (W1 ST AT
SFIFZG|

73. Question: (@I FGATT FB(AOF T J F?

A) 355 o b

B) Ar@afers b

C) AP CITHIErs b
D) &3 He Mo

Answer: D) ST 5 nft

Explanation: - (S SIS Gfsfel A1 AT FHB@O! 8 NEF (ANTT| - (@
ANST AHFT T FUTF (ANC) BT (@1 @ | $»88 SIE fefd ANC (@ (@5t (e | -
$D5-5529 T f6fF ANC a7 STorifed WA T FEA| - IfIE T [T JfSIma F1e
fof o Le-S o AT TEf T 39 T2 (AN GIeT FIF@INT =@ | -

74. Question: oY LEA MNEE[& F© OIAE IR (F1H T2 IHHS 2J?

A) 20 T, $ddY

B) S2 fO0TEH, 23y
C) So M6, 2>V
D) x fE0T9R, v3249



Answer: B) 52 fS09g, v

Explanation: - 5559 T 3 fSTET IRATT TTFF AT MEGT CEATH Ses1:2f6 SHifed NET Ty
BB NS (e §fe TFEO 27| - §fe0e IRTATT FTPNES T6F SN INA© AR 978 T2
S T (Sfefaa (FMET T (FF TEH]) THT FE|

75. Question: AT BT 9 572

A) @& 2T
B) GIEIS! s at
C) (SaTEe faamar
D) (ST TRwIwT

Answer: D) (S&T SRaTl

Explanation: 3FEFHE TN (AfNGH GNET SRGIST (Joko Widodo) | fSfa STEERT - 2058 ST
AT AT 978 205> NTE [F6iF (FIT™ 1w 2|

76. Question: (SSFAIT TFIGF o9 | IS A6 TATFENT 7)) TS (FF (T FATITAY
(A IRFE P TAR?

A) st

B) Hieie

C) &3

D) ®1Fe T e Fa71 T@®=

Answer: D) 199

Explanation: 735 Jifee $a7 2@®

77. Question: Wi ST AFSEN FE W01 §fe 572 FE?
A) 5594 STE

B) $>vQ ST

C) $»»8 ST

D) Sa>9 A

Answer: D) 55> ST (1993 )

Explanation: - NERf&0E (PHR[ERT & TS0 G2 SREFET 992 REST TH061 (SAFTA) T



23| - X008 T SN MY IARNE 4 §fe THFS 271 - W01 {fea & Afaey RFE A0
§® L2590 S b o 7@ |

78. Question: (SSFTNF TPafod T Tod O (M3 TI® ) 31 oAl NHCTH AfeiferF @R
G IEICER Y

A) @
B) frofer
C) SCE
D) b@ch! 79f6 A1 F47 2@A®

Answer: D) 56T

Explanation: =36 16« $a7 2@®

79. Question: (F1H §fE(e TENARE TIHFT I7 28ITF FT J4] TA®?

A) FTGT (NATO)
B) 6 (SALT)

C) a4f3f6 (NPT)
D) fSIf6faf6 (CTBT)

Answer: B) G (SALT)

Explanation: 3@ &A% TS a@7 §f$ (CTBT): 534 MEF o (CHIF SfoRE
SIHTE T 92 §fF 310 | NI TFAFE! (712 FOIT (8 (FFINMF, Y03Y), S ee| F8aT 9332
el S LS (T RONF | Seqimael FE | TLCTT AeEIa1at (T FENE (5 (FFINME, 2038),
$90@¥| TF: CTBTO STI3G |

80. Question: FIMG W AT TfowT Ia] BF F@MRA?

A)sv o
B) ¢o &
C) o fo
D) a5 6

Answer: B) ¢o &
Explanation: - STENE IENT Ty 5327 S>0fG1 - NFTT 2088 NETF 38 TR GiRFel YUl S0

TUSTW 1 FE@| - $98¢ NEF 38 A FF ¢S 6 7oy @ Sfomy I@y 8F FE| - 97 TWawad
Fo@m@aa 39| -




81. Question: (A FHTOF (FIF NIGCT A FS?

A) affrmy

B) 28@T

C) wfper SHEFT
D) %1

Answer: D) &1

Explanation: (&a T5eT MNHFT F2GCTT AFH (W1 AT J19 - Republic of Benin ST -
(TGT-(ATCST AZIT ST - (H% AT T - N AN BT SN2 fForfera

82. Question: IO IRTTWCTA JRS TRIAAAFIA (7T (FTA6?

A) TEAT
B) sffa

C) JATE

D) S

Answer: C) J&A%

Explanation: - IO I5F A N5E SRIATWIST (7T 2T S | S (3@ IRATET SIGE @G
(A SF AR | - ST 77 JSAZ 3 FIATST T NRIBIA! (W1 - T ILTMFF SRS
IEEENSET

83. Question: SF9-99 (FF Y@ (7 AT 515 w?

A) SFe

B) fde
C) dfa@Ef s
D) SFIAT

Answer: B) g9
Explanation: The Group of 77 (G-77) T SIeSRET SHIFTAT (WISTNT A6 (BT | BF© A©

99fG (7T NFTET3 O G-77 (IR Sl (77 F@®@ I aff S» 8 METF v¢ I afolde 271 9%
(TG TS (SIS ST |

84. Question: (S3FAA TFAGF TT T 93 AT TIFH (@2 | TONH ATGH G SAF Sy T



(A1) S>> EH (A& MRS TTFH (F (TIRA?

A) IF (F ATRIAA
B) Wi ¥
C) RIF (3H
D) SB1F S A6 J1fe A1 2@ ®

Answer: D) 81 ST

Explanation: =56 e FaT 2@®

85. Question: FRATWT (FIF AT (ST TAT FIZ FE?

A) fEET e
B) SIGETFGT

C) NCH

D) GERICER

Answer: B) SNGATGT

Explanation: - $»%8 STETH Y& SFTIR (A SR ASTE JSANEA T AEHET RE (00 08T
NrerFTettel SIS (ST SIS IREATT FNT I (A | - SIFT (N ARG SATER IR 907 @
SR | - SET, TRAWTT 5 oSN 1 A= ACTHET 97 T915m e FE|

86. Question: ARG LISTF (FIRT AIFG?

A) TG
B) frofa
C) z32-a
D) =mfaey

Answer: D) *IfH0T - SR BISIE I TS |

Explanation: a1 8@ 939 I2@ AT S bod TEH 0 N6 RN AN AFHNT 77705
SR GISITH SN FAT | - A7 foisflef F18 BF TAMRE 3% SN Swa T | - 97 394 7T
RN IS SIS AR | - SR BISTT MHCT AIFO | - =4ef (BT e tofe MR I8N
THOl >b8 Fb|

87. Question: IRHNGF NATF & FHHET 07 799 (FINT FIFo?

A) (STSIT



B) STREE
C) AT
D) fe@a®

Answer: A) (3@eF (Geneva)

Explanation: I@S1fesF <fIF =If& 51231 (IAEA- International Atomic Energy Agency) 3f6f$e
SDCA M| » AT Taawgd AFTAH FSENT AI(Fe| « TAB 200¢ T O (& JFHH TS
FE| » FONF J0 S90f (W1 « TENF NRHREIAF FRTIT M@ (S| T2 A@feF anerfIs
NS ST3F QIR0 |

88. Question: (SSFI W& T, TF QT (M3 TAW) S>> T (FRE1k-1 Aeffde ¥ 7
I STCRAES 3 T [ fozer?

A) T e @ o

B) farg MStaT 9% 28

C) AT AFEFIT NFNfEFT

D) 1t fordffes 37 $9 =9 e 41 2@™

Answer: D) 71T forffes % 9

Explanation: =6 1feT Fa1 @™

89. Question: ¥ 4T} TEFea FH TR IO© TI?

A) (ST

B) (T (NG
C) fA53zs

D) fa8f& &fefas

Answer: D) f38f% (aifefa

Explanation: - $»»X WETH ©-58 3 Ffewera 78 f& oafaa 2@ s g 438t siewei a1 The
United Nations Conference on Environment and Development I 3 2|

90. Question: (S3FAIT TGP T IT AN S TS (F2) (FIH (TCT AT THEF (6 3 37
Jie?

A) IRCT

B) SN

C) SR



D) (196} ¥ 246 Ao F1 T@A®
Answer: D) (62 97 46 Jhoe F4T TJ®

Explanation: =6 1fed Fa1 @™

91. Question: FFSEH SEAIF AIHE (F1A THIOF SINFT NHE?

A) FEF-TR-THRG

B) Sty T

C) 3fE= IIHRG

D) CFC 31 GTEGIET F199

Answer: A) FEI-OR-IHG

Explanation: A% 26 GTETEFET F1E@EF 2358 571 - aft IFHSEF STIE (T SO SoT
f3f3 3 @ AHEE AT F@ (CFC+0302+.....)| - 97 HET SENFIF AT AT %1 3@ IF| 92
TIoe @ wEEsfes e 3 3RS atT SiFonied FoTEa FE| T3 SHATHF (Ifaq IwI
33|

92. Question: "S12 W2 (dry ice) X -

A) TRETE TEATNRGT IO ATF]
B) Fod AT TFTHIT TRAFRS

C) == f&& (TS eraE e I9%
D) Fd JITTT FIIF-SR-IHRG

Answer: C) "Eﬂ%@fmﬁﬁmﬂ A o I9%

Explanation: - 139 TR SRS ST 00C STFHTAIY 932 40atm G ST e 27| - 93 F1E
TR TG G157 AT TGS FAE IPNSIT 97 S[FOTT P TFF FIAF T2 THRG G 5316 2| -
T A TR THRG AT ITST TH(-78.40C) SITHAT 5 T | AT B3 IART I

93. Question: (FF ST HAH IS oI (FI?
A) 88F

B) fefyr

C) 3ferT

D) @i 96 1o F1 2@A®

Answer: D) 59



Explanation: T35 F1fee Fa7 2@

94. Question: SIIEMGN (@15 T (T 0B Fo 9 (N6 2@ -

A) ZIfT TP A6 TTENET TSN 93 (15T 27
B) 92 (F15T 3T A(@ PO A1 e T

C) 9% (@151 MRS fFSf [Ta8 &

D) fofar el 2aTE @&fF (3 92 (@157 T

Answer: B) 9% (157 3 J(& F@IEF {37 Jfan 77

Explanation: 53 =G ST (WS fo/:5]0 2T]fel AN TSN [(& FTS A7 AT (00 517
SRS (@157 YR 21 - fofey SwSIT A1ATR (AT TR 27 9% 41706 §F |

95. Question: FFISHFT SRAT T

A) FFESHIET (FIEAT TIRT NG e FIAFTA
B) FFIOHIET TFRTT (FINTS oSG

C) S IEEIET TFRTTT JT S AT 71

D) A% Y@ A0 FREISHIF (ST

Answer: D) 9% ¥9@d 0¥ FFISEE (™
Explanation: F™Sb1d SRA™, a9 936 FEITHIF (SN (computer program) J1 H124 (file) (I

FRRFFOIH TN N NEOTOIF RGTR FPHOCIAE Nw Mo IE A2 AF T @ SOOI AT
RIRE

96. Question: a3 FfS6 2= -

A) T3ST 3 o5 (F® (F0T (W

B) s g R sEse

C) 2337 fosyte e By o=

D) =T 3= MR (e SIS HewET

Answer: C) 23137 fB55t@ e B @

Explanation: S3fe 191 & G116 J11SIE (T AAOSHTE FH1 27| 2 Tahore Su] I& S RFow
T fICTT Y (T T S1fEe FH1 23|



97. Question: T¥® IFCICIF (FT NG NAIGR A(EF ATH@ AFIZ Fao] 1T FE?

A) FEF TRAFRS
B) SF%IF TIROHRS
C) TREFS ARG
D) IR AEHRS

Answer: A) FIET TROAHRG
Explanation: 139 T@E1RS & REMENE W H0T ST ReMeanRa o8 7@, 35S

(@ ToF TR AHE AFI2E IT Y FE| O FRC FIIA NAHRS (76| T35 SHARF
cafers TS fFeere 92

98. Question: Ie1FF AW AfFECT NAT ToIg (T ©IFHNET NS AT FAFIT FEF ©f 2E -

A) o &5 ifBEs
B) Soo &3 (B
C) 2y & (Fafes
D) 8 f&&f I Gre

Answer: C) v &t (Ffew

Explanation: Mo ST &3 70% 4°C ST 97 Fag NAEE (T 97 SIT1ar IS Miad
qog I | T35z SHIAESNE g s fFeme 32|

99. Question: (IF [ASFITIA (NG FATT TN [FF SITRAT A T, ST Jo 27 -

A) SRCTETE

B) SIRCIE

C) SECGI

D) SIRGIGTT

Answer: B) JRR®E

Explanation: (I S ST NN AT TN 5 ©F 47 o O TG SNRCNGIT

T ZH| « (T T TN [ATES ST A [ (AT 207 3 ©F 5247 o O A=
SRCNEGT T |

100. Question: ) NENFH(S NG FI TS (FII?



A)@?F(?E

B) g8 (¥F Sooo Rb Tpe
C) 9P (A Sooo Fb fls
D) 9@

Answer: B) 9% (3@ Sooo Fb OF©

Explanation: (FT@T T (I AN T G1AT T (FCU (@ AP 7 ONF ©F 35 IE| - AT
ST, W=mg 937 g= AfGF¥& I9 IF 71 9.8| - 93 g 97 NH GIJP (V@ IS [G/S7EF T3 IF g
AT A ©© FA© N | - I8 g 97 T ARG TN A (S F7| (NF VBT g 97 7 37

S PEF (BF (@




